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B2E=) Wastd | ®and | S5¥% | HES
At2H(17H/300~350q) 1,730 1,868 138 -7.39%
Hi (17H/650~700g) 3,249 3,025 224 7.40%
2(171/1kg) 1,594 1,543 51 3.31%
Hi 2=(1 27| /3kg) 4276 4,676 400 -8.55%
CHitH(15/S/1kg/2E 7HA) 2,501 2,315 186 8.03%
20|(37H) 4,159 3,686 473 12.83%
K| 27| (= 4t/of 8 2/6009) 16,780 15,046 1,734 11.52%
SETLE St 7[(10r2]/1kg) 6,583 6,784 201 -2.96%
(1653) 20 7|(=il/=AHE| K| /1S 38,050 39,370 1,320 -3.35%
2| 07| (= &i4t/LAZH[/6009) 25,846 24,245 1,601 6.60%
= Z(1E/C 2H/307H) 6,736 6,357 379 5.96%
Z7|(10t2|/=4H/15cm) 1,166 1,327 161 “12.11%
ZX|(10t2]|/=4H/80ecm) 6,654 6,442 212 3.29%
150 10r2|/=4t/30cm) 3,067 3,308 241 -7.29%
HEf(10r2]/2H A|OFLF/40¢m) 3,768 3,743 25 0.68%
L H0o|(10r2]|/3H=/30cm) 4,034 4,136 102 -2.46%
A (20kg) 58,800 59,200 400 -0.68%
2|2 = 4/1kg) 3,670 3,670 - 0.00%
LIt (1kg) 2,042 2,142 100 -4.67%
7tOHS (1kg) 11,019 10,669 350 3.28%
A7t F (S EHE/1ko) 1,526 1,428 98 6.86%
2 ((152/300g/3 At +W1| 1,077 1,078 1 -0.09%
M= AME82(18L/E7|E 6,338 6,338 - 0.00%
(1483) =18 36OmQ/ADH7.§1) 1,290 1,290 - 0.00%
O 2= (19 500me/A 01 ) 1,490 1,490 - 0.00%
AZ(1-H 360me/2] 4N 4,000 4,000 H St
I3'”‘(1 B 500me/2| &) 4,000 4,000 H St
3|22 (L) 1,644 1,774 131 -7.36%
74 S(1L) 1,465 1,570 106 -6.73%
S(1L) 1,044 1,009 36 3.54%
70 21 A H| A EHKPE*HIU50~2009/%LHH/9|M) 12,000 12,000 H 3t
(28F) | A £(150~200g/=LiLt/2l4) 12,000 12,000 3t




